Problem 3.1

3.1, Find the response of the system illustrated in Figure P3.1 to the input force shown.
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Notice that this is identical to
Example 3.1 from the book.
The "actual" time scale has
changed, but the relationship
of the input to the period is
the same.

We will still walk through
setting up the Fourier
Expansion of it. I'll include
more detail in getting the
response from this
expansion.
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Problem 3.1 (cont.)
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Problem 3.1 (cont.)
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Forced Response via Convolution Integral (Sec 3.3)

The Fourier Analysis gives us a way to address periodic inputs, but...

Q: How can we determine the response to any input?
- Look at the response to a single impulse
- Show/know that we can approximate any input as a series of impulses
« Use superposition to sum the responses to this series of impulses

Q: What is an impulse?
intuitively - a "high" magnitude input for a "short" time

strictly - an infinite magnitude input for zero time
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Q: What is the response to an impulse?

Impulse-momentum:  T=mg = '
For= mdi— (Fd*" Sf’\d"

fest = ol = b



Forced Response via Convolution Integral (cont.)
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Forced Response via Convolution Integral (cont.)
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Key Point: Remember that we're just adding a series of impulse responses.




